1. What are two of the requirements a population must meet to be in Hardy-Weinberg equilibrium?

a. Random mating

b. No selection

c. Infinitely large population

d. No migration

e. No mutation

2. How can you tell the difference between the Wahlund effect and a null allele?

Both are an excess of homozygotes.  If it’s the Wahlund effect, all loci you check will have an excess of homozygotes.  If it’s a null allele, most loci will be at HW equilibrium but a few might have too few heterozygotes.

3.  The following sequence was obtained for a polymorphic loci from 4 individuals.  Assume µ=10-6
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A. Determine the number of segregating sites (S)

4

B. Calculate the average pairwise difference  (π)

13/6

C. Set up an equation to calculate N from π

(13/6)/[4(10-6)(10)]

D. Set up an equation to calculate N from S

4/[4(10-6)(10)(1+1/2+1/3)]

